k- 18iE

P

9.070 B <f s BEWE =16~23
35 9,000 35 BiR-B/\R)L | AR ENRt=0.6
900 900 900 900 900 900 900 . 900 900 900 = i Ax3—t tf12mm
| | | | BOE K7 | AF—ILEF7 RBEE / 7ISHyd 5LEN
= FILEHyY BlELY
@ 3 BER | FR2000 AN -1t
g MKEEH-IE LA7IMEEAEE
o
13 S
= #:060 #£:060 #£:060
8 el / / a
W o= +—
o ™
Q
= S 4,160
[=>]
210 3,740
3
[=>]
@ l l I L3 - 5 AR S14MHRt=0.6
3 | | ' &
A iAo B ARE R0
| F&EE si1/50 |
30 9,070 30
| [ ] | AT S48 4Rt=0.6
3 3
Y1 ER S:1/50 | 2
B SARME S48 Rt=0.6
210 3,740 210 /
[ ]
B | A
BR:/3%a—k t=12
— [ % & ® si1/20 |
| X1 SZ@ER S:1/50
FTIESIR YER R ] IEAM HmEma TN HNEES {HI 7K R ED
OKL (2.0k x 5.0k)

FER- IR FEE




